EARAROBREBRT —5 XN—ZXBISH—F

2023528168 () 12@I#14H

3R EES

C3=MAa

‘(fﬁ} W ‘I%EH?’JF&] | & 100 =

[AE%] 1 7% :800,000 M  27&:280,000 M . 337%&:160,000 .~ 43 :120,000H . 5 7&:80,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= ., 5 BEE :31. -1-1- . - @R CA)
1156 | 7RIS wvIa "7 56.0 1(3_1)5 1) 395 ! (32) JtEASH
RiIAYYTSwya B:LyRFE—F pEbuke
o s 8 | BIHES 1:32.0 2-2-2-2 |39.8| - 3 | 458 |FHEE (HO1E)
2(8|12| F/T 54.0 @172 Ca |z
RAREFY B:FYO-SUHY MER Y R
~ it o6 | FEEBR 1:33.5 6-5-5-5 | 40.8| — 4 | M8 | FEABE (HI)
3 4| BV T 54.0 @) 1) | WA
R:T—JVRI—R B: T4 RILFUAP— g ¥
—= — 6 | TBEA 1:33.6 5-4-3-3 | 41.0| - 8 508 | Lt (RaAd)
4 3| FTW—F47—-X 54.0 72 1) | BEEL
RiXAYIDR—5— B:I9A/4FITU—F NFAIRI YR
% 6 | PERE 1:33.7 9-9-7-6 | 40.8| - 5 415 |JIS= CA)
502|977/ *50.0 a7 ) | Ir=2rEvaY
RAREFY BILXH-I IRET7— L
it~ s 5 | BBDS 1:33.7 3-3-3-4 | 41.3| — 6 488 | JIIFSFS GAFD)
618111 b—EBYTA 54.0 F9<) w3 |dEExSE
R:b—tYIT7V L B:hAUZ3vY BRESM IRF1T7—L
°~ )51 ) — 47 | BATHIA 1:34.0 7-7-8-7 | 40.9| - 9 540 | BB GER)
71111 ARNVTU 56.0 a1/2) (1) | ERI—EB
RiYyAHLO B:Ta—-Fr—tAl Ty rRF—TI
s 5 | HOEERDRE 1:34.0 10-10-10-9 | 40.4 | — | 12 | 422 |BO—RE CAAD)
8|5/5| V2t 5.0 ZE) o |oEe
R:O—R7ZIVF«4X B:RF—TU—RY fisiive]
. B BAES 1:34.4 11-11-11-11/ 40.2 | — | 11 | 452 [i&H—RI C#f)
917]10| RZU—LA—T oD o ‘ O tixn
R:EVFOVY B:32ZUF7U FEHZ7—LA
L. D = 4 5 | THHERER 1:34.5 4-8-9-10 | 41.4| — 7 521 | J\AAZ (liE)
100y 8 | NLE=75> %55.0 (12 @) | ¥IIYT RERIAYE @)
RiPAINTT7FH— B/ x0O0—-L35A ISy FIT7—LA
o 1|88 :35. -6-6- . - EZ (1)
1 7| T4RI2 8 5 Bl 1(345)3 8-6-6-8 | 42.4 2 (431(; o )
R:U—=FHI5HY #:I-ILFVAIS F—U— - Iv I\ - T7—LBRR
- o et : -12-12- - EESBRA ()
12 ) | T=IWRFIEIL 5 A 1(735131;1 12-12-12-12| 41.2 10 (5_245) EoRT
RFIPITRTVR B:FITUTHYF VRIS
@ 11— —®BIEfI
10—+— 6,12,11,8,3,4,1,7,9,5,10,2
20—F— 6,12,11,3,4,7,1,8,9,5,10,2
30—7— 6,12,(3,11),4,7,9,1,8,5,10,2
43— — 6,12,3,11,4,9,1,7,5,8,10,2
o ILRE
B B 6 260 JA R 6-12 530M4 % 5E 5-8 860M4 3EE 4-6-12 2,060
7B B 6 160/ 4-6 510 B 5-8 1,250 3EH 6-12-4 6,020
12 200/ 4-12 790 F5 E 6-12 9504
4 1804 =51 6-12 1,280

ABIC OV TRUTEREERRODDZE. THRIIZEL.




